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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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20. 6 4 20. 6
20. 4 1 20. 4 1
20. 4 1
485 490 495 575 580 585 630 635 640 690 695 700
m:720,m FV0=0 m=81 O,m FV0=0 m m
—o— MW 21.2 1 —o— MW
21.0 1
20. 8 -
20. 6 -
20. 4 1
20. 2 1
720 725 730 810 815 820
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P3-11

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR ERR

09:10 210 60. 0 A Ri1%@09:10 (K FBIEREES)
09:50 210 60. 0 ;] BR3%@09:50 (KF1ERLEE)
10:30 210 60.0 1] ;Ri%@10:30 (kPB{EREE)
11:15 210 60.0 A Bige11:15 (REERSR)
12:05 210 60. 0 A Bi%012:05 (RREERE)
13:10 210 60.0 ] Bi%@13:10 (RFERHSE)
14:05 210 60.0 |Z= Bi%@14:05 (RAERSE)
14:45 210 60.0 |Z = Big014:45 (REERSE)
15:25 210 60.0 (&= 1RRi&@15:25 (RAHEHE)
2311 1890.0 (9%) 540. 0 323 KEC: 1560.0, PH: 5.6

EER R (210. 0) 5FHA (120. 0) FF,

ZRIASLPRIERE105.0 ml.

[E;&EC 2790.0 K5, ZEiLHBIKECAEZ hitRR
FEIKRECE (2120.0 vs 2790.0) R

FATREH T % ME#ER S Z XER




P3-11_0, Day=2 (2025-04-04)

60 e e e e e e e e ]
V1, V8%FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 8095 1 800
660 680 -
40 L 600 ©
90 20 | IB75L 400 5
20 =
L 200
48 Warning: lcol ['FVI',| "FVO'] missing
0 . -0
_ ( mm v — wue p%°
I FRV maxM
= 100 + - 25
E_ Ll
E  [mmmmmmrmmm e e e == I----I--l--l-u----l--l --------------------------------- E
E 50 4 | u | g _H | | - 20
[
i | — | 19
1.0
"

0.8

0.6 -

0.4 1

0.2 A

Warning: lcol ["WC1',  "WC2'] missing

0.0

o5 ] TargetEC=1200.0, TargetSetEC=1560.0 t

0.6 -

0.4 1

0.2 A

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

0.8 TargetPH=6. 5, TargetSetPH=5.6 N

0.6 -

0.4 4

0.2 A

Warning: lcol ['PHB’,| 'PHC’'] missing

%50 7 : ' 4 1000
= Bylnit @D5 p2:51: ET=245 Fg=400.0 Ro=168.0 o
& ! i &
100 - : 750 S
N I >
< 1 - 500 -E
E 504 ! o o o o o o e —© =
— 1 —S [S] S & © - 250 §
[in] 1 o

! \

158- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 _?000
= n|Z=|Z=| BB | B | % | BB [ B | BH | FB | BH | BH 5 5 B 5 5 5 B 5 5 5 B 5 o~
c 1 c
= 1004 ByEt @D2 18:06: ET=220 Fg=735.0 Ro=pan —eo—¢—eo—o—9o—o—o 7% <
~ ~N
- 1 —
< I L 500 E
E 50 ' 5
— - 250 §
(NN [&]

e ey ~ S S—R 0

158- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 1000
= =252 B | 252585252z B | BB | BB B | BB |2=|8=|25|12=585=] B 5 5 B 5 o~
c 1 c
= 100 ByWoFv @D5 02:51; ET=375 Fg=540.0 Ro=230.0 -750 S
~ ~N
- 1 —
E 50 i i
= I - 250 3

1

1.0 0 1 2 31 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0

0812 2B |25 B |Z5(ZE|25 (2|2 B | B [B | B [ B |Z=[(ZR|Z25[(ZR|25( B 5 5 B 5

0.6 -

0.4 1

0.2 A

0.0
1500 { —_ 4

[ ] | _obs

1000 + —@— PPFD obs

500 -

3

—_— T 4
o T obs
20 - o To_obs
10
34 e v f
A A a




m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

16.7 - o— me | 1687 o— me | 1687 — NE
16. 6 - 16.7 -
16.7 -
16.5 -
16. 6 -
16. 4 - 16. 6 -
16.5 -
16. 3 -
16.5 -
16.2 16. 4 -
—&— ME 16. 1 - 16.4 16. 3 1
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
o— me | 1677 o— we | 1687 o— me | 1677 o WNE
16.7 -
16. 6 - 16. 6 -
16. 6 -
16.5 - 16.5 -
16.5 -
16. 4 - 16. 4 -
16. 4 -
16. 3 - 16. 3 - 16. 3 -
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
—— MW —o— MW —— uw | 2147 —o— MW
21.00 - 21.2
21.2
20. 75 - 21.0
21.0
20. 50 - 20. 8
20. 8
20. 25 20. 6 ~
20. 6
20. 00 - 20.4 1
20. 4
T T T T T 19 75 - T T T 20 2 L T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
—o— mw | 2197 —— MW —o— muw | 21907 —— MW
21.25 -
21. 4 - 21.25 -
21.00 -
2192 - 21.00 A
20. 75 -
i 20. 75 -
21.0 20. 50 -
20. 50 -
20. 8 20. 25 -
20. 6 - 20. 00 20.25 1
690 695 700 720 725 730 810 815 820 870 875 880
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P3-11

BYiE) | GEBIRTIK (D) | EBE (EAH/#K) | XS ERE

09:20 210 60.0 i B3i%@09:20 (FKAERE)
09:55 210 60.0 5 B1%@09:55 (KRFERE)
10:35 210 60. 0 i ’R1%@10:35 (KAIERLEE)
11:15 210 60.0 i Bige11:15 (RPBERE)
12:10 210 60.0 RS Big012:10 (REERE)
12:45 210 60. 0 i RRi%@12:45 (K BERKS)
13:20 210 60.0 (&= BRige@13:20 (KBfEREE)
14:05 210 60.0 |Z= RRi%@14:05 (K FHERK%S)
14:55 210 60.0 (&= Bi&e14:55 (KRFEREE)
15:45 210 60.0 (&= Bi&e15:45 (kRP1EREE)
23t+]2100.0 (100%) 600. 0 3 KEC: 1560.0, PH: 5.6

EER R (210, 0) 57HA (109. 0) R FF

ZRIASLPRIERE116.0 ml.
M R i3k B RECERE Tk .

[E&REC 2790.0 K&, iU F{KECAE & di%E R
HEEIKECE (2120.0 vs 2790.0) RS

REREBHHEREC/PHETRK, w]

INA=2A
AEF

MEAEER SR

ATREER T % ME#ER S Z XER




FRV (ml plant-1)

ET (ml/hr/plant)

P3-11_0, Day=1 (2025-04-03)

60 e ——————fF——————f—————— T ——1]
VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET [ 500
40 -
660

20 - 00} 500

. 00 90 Warning: lcol ['FVI', "FVO'] missing 4_8 .

i
( mm v — ME p 30
FRV maxM

100 - B | | | - | | L 95
(NN
---------------------------- ——— — — — — — — ——— — — S S S S S NS R RS S S S S S S R S S S S S S S S S S S e e e e e o E

50 = R — | - 20

TE 1N 1. 15

TargetEC=1200. 0,  TargetSetEC=1560. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

0.2-
908 3

75

Warning: lcol ['PHB’,| 'PHC'] missing

800

T
(=2
o
(=}

cumET (ml/plant)

ByWoFv @D5 02:51: ET=400 Fg=600.0 Ro=253.0 *——0—0—e——9©

T
S
o
o

T
N
(=}
o

i
|
|
1
X
1
I
|
|
i
1
1

o

1.0 14 15 16 17 18 19 20 21 22 23

XN EXN EXNESN EFNEFNEFNESNEFNESN

0 1 2 3 4 5 6 7 8 9 10 11 12

W
T
W
NI
W
NI
W
NI
W
NI
W
NI
W
NI
W
T
Tk
T
S
W~
Mif <

0.8 -

0.6 1

0.4+

0.2~

0.0
1500

—_— 4
[ ] | _obs
—@— PPFD obs

RH
RH_obs
RHo_obs

®
3 1 ‘r.'ﬁ" -4 e v ¢

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)



m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

16. 8 o— ne | 1687 o— ne | 1687 o— ne | 1687 — NE
16. 7 - 16.7 -
16.7 16.7
16. 6
16. 6
16.5 16. 6 16. 6
16.5
16. 4
16.5 16.5
16.3 4 16. 4
16.2 16. 4 - 16. 4 - 16.3
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
16.7 o— wE | 1687 o— wE| 1677 o— wE| 1577 — IE
16.7 16. 6
16. 6 16. 6
16. 6 16.5
16.5 16.5
16.5 16. 4
16. 4 16. 4
16. 4 16.3
16.3 16.3 16.3 16. 2 -
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
215 - —&— MW | 21.25- —— MW L, —o— MW 21 4] —-— MW
21.00 21.2 - 21.2 -
21.0
20. 75 - 21.0 1 21.0 -
20. 8 -
20.5 - 20. 50 + 20.8 -
20. 6 -
20. 25 20.6 -
20. 0 - 20. 4 1
20. 00 20. 4 -
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
—o— mw | 2167 —o— MW | 21.25- —— MW —— MW
21.50
21. 25 -
21. 4 -
21.00
21. 25 - 21.00
21.2 1 20. 75 -
21. 00 00, 75
21.0 4 20. 50 A
20. 75 20. 50
20. 8 - 20. 25 |
20. 50 00. 25
20. 25 - T T T 20.6 1 T T T 20.00 7 T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880



